National & Mathematics

E+F 1-2b
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Outcome 1 - Common Factor

Bronze examples...

Silver examples

Look for
the HIGHEST
common factor!

Examples...

2x+6=2(x +3)
5y —-25=5(y —5)
56z+49 =7(8z +7)

45w — 27 =9(5w—3)

Gold examples

Examples...
Look for the
HIGHEST
common factor!

x?+3x=x(x+3)

y2—8y=y(y—8)

w3 + 6w? = w?(w+6)

Bronze Questions

ap L]
Factorise the followingexpressions.. ,éé/ Factorise the following expressions... 4
L 3x+21 & 10y — 2 & d? +5d 2 t2 —12¢
« 20p+45 & 21r+35 « dh+h2 & 3p—p?
& 40s—-28 & 24t-32 5 u?-7u & ¢*+2q
Z 36z+42 8 70m-—30 Z k3+8k:Z 8 r3+5r2
8 18n+99 183 96b—36 8 ggz_|_g3 I8 gz+1593
Gold Questions ap
Factorise the following expressions... 4
& 3x?+12x & 6%+ 12q
« 21t2+56t & 5y+35y?
5 4Im+7m* G 36s+27s?
L 2h*+18r* 8 64d®+40d?
8 12e*+6e® JQ 1413 +42r?

Factorising Expressions

Examples...

Look for the HIGHEST
common factor!

4x2 +8x =4x(x +2)
16y + 24y? = 8y(2 + 3y)
3p3 +9p? =3p%(p +3)

12w? + 15w3 = 3w?(4 + 5w

)

Silver Questions
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Bronze Answers

3(x +7)
5(4p + 9)
4(10s — 7)
6(62 + 7)
9(2n + 11)

VW NO W

Silver Answers

1 d(d +5)
3 h(4 + h)
5, u(u=7)
7 k=(k +8)
9. g¢*09+9)

Gold Answers

1. 3x(x+4)
3. T7t(3t+8)
5. 7m(7+m)
7. 2h*(h+9)
9. 6e*(2+e)

Factorising Expressions
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2(5y — 1)
7(3r + 5)
8(3t — 4)
10(7m — 3)
12(8b — 3)

t(t—12)
p(3—p)
q(q + 2)
ré(r+5)
g%(1+159)

6q(q+2)
Sv(1+7y)
9s(4 + 3s)

8d*(8d +5)

14r%(r+3)
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